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TRIGONOMETRICAL RATIOS

Solved Examples

1. If  , find the value of  is a acute

Watch Video Solution

cos θ =
12

13
2 sin θ − 4 tan, θ  where θ

2. If , prove that 

Watch Video Solution

tan θ =
1

√3
7 sin2 θ + 3 cos2 θ = 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gTEezWK9IcGW
https://dl.doubtnut.com/l/_Gp7f1GZJp8eV


3. If  = a find the value of 

Watch Video Solution

b tan θ
cos θ + sin θ

cos θ − sin θ

4. Prove: 

Watch Video Solution

(1 + cot2 θ)sin2 A = 1

5. Prove that 

Watch Video Solution

sec2 θ + cos ec2θ = sec2 θ ⋅ cos ec2θ

6. Prove : .

Watch Video Solution

(1 + tan2 θ)(1 + sin θ)(1 − sin θ) = 1

7. Show that ( ) = cot θ
1 + cos θ − sin2 θ

sin θ(1 + cos θ)

https://dl.doubtnut.com/l/_z147rdVERrbP
https://dl.doubtnut.com/l/_AFk6dCc7gFFa
https://dl.doubtnut.com/l/_T6DXDOpOARFA
https://dl.doubtnut.com/l/_2nggy0eAaxod
https://dl.doubtnut.com/l/_ZGxfGlbou4Hw


Watch Video Solution

8. 

Watch Video Solution

+ = 2 cos ecθ
sin θ

1 + cos θ

1 + cos θ

sin θ

9. Evaluate : 

Watch Video Solution

2 tan2 45∘ + cos2 30∘ − sin2 60∘

10. Prove that :

Watch Video Solution

tan2 30∘ + sin2 60∘ − 3 cos2 60∘ + tan2 60∘ − 2 tan2 45∘ =
4
3

3

4

25

36

11. Find the value of x if tan 3 x = sin 

Watch Video Solution

45∘ cos 45∘ + sin 30∘

https://dl.doubtnut.com/l/_ZGxfGlbou4Hw
https://dl.doubtnut.com/l/_lM08aMib1xWF
https://dl.doubtnut.com/l/_ZguBRMxZQ3R8
https://dl.doubtnut.com/l/_M63QFgROppvv
https://dl.doubtnut.com/l/_yebYe4OHWmDI


12. Without using trigonometric tables, show that

Watch Video Solution

+ cos 49∘ cos ec41∘ = 2
cos 70∘

sin 20∘

13. Evaluate : 

Watch Video Solution

tan 7∘ tan 23∘ tan 60∘ tan 67∘ tan 83∘

14. The value of (tan ) is

Watch Video Solution

1∘ tan 2∘ tan 3∘ …tan 89∘

15. If  are acute angle

then the value of  is _____________.

Watch Video Solution

sin 3θ = cos(θ − 6∘ ),  where 3θ and (θ − 6∘ )

θ

https://dl.doubtnut.com/l/_yebYe4OHWmDI
https://dl.doubtnut.com/l/_2qpASj2KIieS
https://dl.doubtnut.com/l/_aFSctjtoH9P8
https://dl.doubtnut.com/l/_eqWrQzau75Hg
https://dl.doubtnut.com/l/_vZY0g5yulgSq


Question Bank 32

16. Show that

Watch Video Solution

+ = 2 cos ec2(90∘ − θ)
1

1 + cos(90∘ − θ)

1

1 − cos(90∘ − θ)

1. If  being an acute angle then the value of 

 will be

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

cos θ = , θ
5

13
cos θ + 5 cot θ

cos ecθ − cos tθ

169

109

155

109

385

109

395

109

https://dl.doubtnut.com/l/_vZY0g5yulgSq
https://dl.doubtnut.com/l/_ZdNxePWMsMQy
https://dl.doubtnut.com/l/_FxQBFnAYlUdB


2. If p sin x = q and x is acute then  tan x is equal to

A. p

B. q

C. pq

D. p + q

Answer: B

View Text Solution

√p2 − q2

3. If 8 tan A = 15, then the value of  is

A. 

B. 

C. 

sin a − cos A

sin A + cos A

7
23

11

23

13

23

https://dl.doubtnut.com/l/_FxQBFnAYlUdB
https://dl.doubtnut.com/l/_zonck9zdiX5U
https://dl.doubtnut.com/l/_f9am1g3za7Qs


D. 

Answer: A

View Text Solution

17
23

4. If  then the value of sec  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

sin θ : cos θ : : a : b θ

√a2 + b2

a

b

√a2 + b2

√a2 + b2

b

a

√a2 + b2

https://dl.doubtnut.com/l/_f9am1g3za7Qs
https://dl.doubtnut.com/l/_uZw0ihWF6lHs


5. If than , then the value of 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

x =
4
3

√
(1 − sin x)(1 + sin x)

(1 + cos x)(1 − cos x)

9

16

3

4

4
3

16

9

6. If  then 5 sin A - 3 tan A is equal to

A. 0

B. 1

C. 2

cos A = 0. 6

https://dl.doubtnut.com/l/_coJCLFxLlC4f
https://dl.doubtnut.com/l/_nCRNY6lZxQHs


D. 8

Answer: A

View Text Solution

7. If cos  , then the value of  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

θ =
3

5

sin θ. tan θ + 1

2 tan2 θ

88

160

91

160

92

160

93

160

8. If tan  is equal toθ = ,  then 
x

y

x sin θ + y cos θ

x sin θ − y cos θ

https://dl.doubtnut.com/l/_nCRNY6lZxQHs
https://dl.doubtnut.com/l/_GT0gzWspbsik
https://dl.doubtnut.com/l/_vfOT7gzm5emO


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2

x2 − y2

x2 − y2

x2 + y2

x

√x2 + y2

y

√x2 + y2

9. In a  right angled at B, if tan  , find the value of cos A

cos C - sin A sin C

A. 1

B. 0

C. 

D. 2

Answer: B

ΔABC A =
1

√3

−1

https://dl.doubtnut.com/l/_vfOT7gzm5emO
https://dl.doubtnut.com/l/_jdeBaBH4SzOc


Watch Video Solution

10. If 7 sin A = 24 cos A then 14 tan A + 25 cos A - 7 sec A equals

A. 0

B. 1

C. 30

D. 32

Answer: C

Watch Video Solution

11. The value of  is

A. 2

B. 4

C. 1

sin2 θ cos2 θ(sec2 θ + cos ec2θ)

https://dl.doubtnut.com/l/_jdeBaBH4SzOc
https://dl.doubtnut.com/l/_jTXQ0UFkeF9Q
https://dl.doubtnut.com/l/_BEPM2c1vCmTn


D. 3

Answer: C

Watch Video Solution

12. Which of the following is not an identity ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 − sin2 A) ⋅ sec2 A = 1

(sec2 θ − 1)(1 − cos ec2θ) = 1

+ =
sin θ

1 + cos θ

1 + cos θ

sin θ

2

sin θ

sin4 θ − cos4 θ = sin2 θ − cos2 θ

https://dl.doubtnut.com/l/_BEPM2c1vCmTn
https://dl.doubtnut.com/l/_Mzns6IS2nrhj


13. if  


 


then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = a sec θ + b tan θ

y = b sec θ + a tan θ

x2 − y2

4ab sec θ tan θ

a2 − b2

b2 − a2

a2 + b2

14. If , then the value of

A. 1

B. 

x = a cos3 θ and y = b sin3 θ

( )
2 / 3

+ ( )
2 / 3x

a

y

b

−2

https://dl.doubtnut.com/l/_5S0qxv7EOhpO
https://dl.doubtnut.com/l/_tYA2lTA70ciG


C. 2

D. 

Answer: A

Watch Video Solution

−1

15. What is the value of (cosec A - sin A) (sec A - cos A) (tan A + cot A) ?

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tYA2lTA70ciG
https://dl.doubtnut.com/l/_nRQYh3VHdgyO


16. What is the value of  ?

A. 0

B. sin x

C. cos x

D. 1

Answer: D

Watch Video Solution

+ sin x cos x
sin3 x + cos3 x

sin x + cos x

17.  equals

A. 

B. 

C. 

D. 

+
cos θ

1 − sin θ

cos θ

1 + sin θ

2 tan θ

2 cos ecθ

2 cot θ

2 sec θ

https://dl.doubtnut.com/l/_AhWQbt8t6WtX
https://dl.doubtnut.com/l/_XIndmXuH7FQY


Answer: D

Watch Video Solution

18. Consider the following : 

1.  


2.  

Which of the statements given below is correct

A. 1 only is the identiy

B. 2 only is the identity

C. Both 1 and 2 are identity

D. Neither 1 nor 2 is the identity

Answer: C

Watch Video Solution

tan2 θ − sin2 θ = tan2 θ sin2 θ

(1 + cot2 θ)(1 − cos θ)(1 + cos θ) = 1

https://dl.doubtnut.com/l/_XIndmXuH7FQY
https://dl.doubtnut.com/l/_5f3UMRh5hxYS


19. 

A. 1

B. 2

C. 

D. 0

Answer: A

Watch Video Solution

sin4 θ + 2 cos2 θ(1 − ) + cos4 θ =
1

sec2 θ

√2

20. If 

A. 1

B. 

C. 0

D. 2

sin θ + sin2 θ = 1,  then cos2 θ + cos4 θ

√2

https://dl.doubtnut.com/l/_woJBu9nCrFGe
https://dl.doubtnut.com/l/_o4R3GSzhl2fR


Self Assessment Sheet 31

Self Assessment Sheet 32

Answer: A

Watch Video Solution

1. If  , then what is the value of 

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

sec θ =
13

5

2 sin θ − 3 cos θ

4 sin θ − 9 cos θ

https://dl.doubtnut.com/l/_o4R3GSzhl2fR
https://dl.doubtnut.com/l/_kuVg11cKKzqJ


1. If tan  , where x and y are whole numbers, then sin X is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X =
x

y

y

√y2 − x2

x

√x2 + y2

y

√x2 + y2

x

√y2 − x2

2. Which of the following is not defined ?

A. 

B. 

C. 

D. 

sin 90∘

tan 0∘

cos 90∘

cos ec0∘

https://dl.doubtnut.com/l/_Zf1U7F73TTO9
https://dl.doubtnut.com/l/_xglompJqmpUg


Answer: D

Watch Video Solution

3. What is the value of 

A. 1

B. 

C. 

D. 0

Answer: D

Watch Video Solution

− 3tan 30∘ + 5cos 90∘sin 60∘

cos2 45∘

−1

2

5

4. The value of  is

A. 

2√2cos 45∘ ⋅ cos 60∘ + 2√3sin 30∘ tan 60∘ − cos 0∘

1

3

https://dl.doubtnut.com/l/_xglompJqmpUg
https://dl.doubtnut.com/l/_w1XDi63OeTtv
https://dl.doubtnut.com/l/_igl0IsHJIEcb


B. 3

C. 

D. 0

Answer: B

Watch Video Solution

−3

5. If  evaluate 3 sin 

A. 3

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

2 cos θ = √3 θ − 4 sin3 θ

4
3

https://dl.doubtnut.com/l/_igl0IsHJIEcb
https://dl.doubtnut.com/l/_DBNtznGVA6BG
https://dl.doubtnut.com/l/_HCWNNDeeqmCJ


6. What is the value of 

 

(Do not use trigonometric tables )

A. 0

B. 1

C. 2

D. 4

Answer: B

Watch Video Solution

sin 2∘ sin 4∘ sin 6∘ . . . . sin∘ 88∘

cos 88∘ cos 86∘ cos 84∘ . . . . cos 2∘

7. If  , then what is the value of  ?

A. 0

B. 

C. 1

x + y = 90∘ (1 + )sin2 y
tan x

tan y

1

2

https://dl.doubtnut.com/l/_HCWNNDeeqmCJ
https://dl.doubtnut.com/l/_F4neQQgOzyB3


D. 2

Answer: C

Watch Video Solution

8. If sin A = cos A and A is acute, tan A - cot a is equal' to :

A. 2

B. 1

C. 

D. 0

Answer: D

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_F4neQQgOzyB3
https://dl.doubtnut.com/l/_8H8EhdfsJ4Ev


9. Without using trigonometric tables, find the value of :

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

( ) − 2 cos2 20∘ + cot 28∘ cot 35∘ cot 45∘ cot 62∘ cot 55∘ − 2
2

3
sec 56∘

cos ec34∘

1

2

4
5

−
3

4

−
5

6

10. If  is an acute angle and tan 11 x = cot 7 x , then what is the value of

 ?

A. 

B. 

C. 

11x

x

5∘

6∘

7∘

https://dl.doubtnut.com/l/_yw5fLFttMjim
https://dl.doubtnut.com/l/_cjYhGtoRThdv


Self Assessment Sheet 33

D. 

Answer: A

Watch Video Solution

8∘

11. Evaluate

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

sin(50∘ + θ) − cos(40∘ − θ) + tan 1∘ tan 15∘ tan 20∘ tan 70∘ tan 65∘ tan 89∘

https://dl.doubtnut.com/l/_cjYhGtoRThdv
https://dl.doubtnut.com/l/_fXsiz9QMeK82


Self Assessment Sheet 34

1. If  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4 sin θ = 3 cos θ,  then 
sec2 θ

4(1 − tan2 θ)

25

16

25

28

1

4

16

25

1. If  and x is an acute angle, then 

 is

A. 

cos x =
12

13

√(1 + )(1 − tan x)
sin x

cos x

√115

12

https://dl.doubtnut.com/l/_r14oijL1vygV
https://dl.doubtnut.com/l/_imHnAQlPtwCp


Self Assessment Sheet 35

B. 

C. 

D. 

Answer: C

Watch Video Solution

√116

12

√119

12

√117
12

1. If  , then the value of  is

A. a

B. 2a

C. 3a

D. 4a

Answer: B

= a +
1

cos θ

1

4a
(tan θ + )

1

cos θ

https://dl.doubtnut.com/l/_imHnAQlPtwCp
https://dl.doubtnut.com/l/_XYrgvG7yuW0F


Self Assessment Sheet 36

Self Assessment Sheet 37

Watch Video Solution

1. If p = cos x - sin x, q =  what is the value of p

+ q + r ?

A. 0

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

, r =
1 − sin3 x

1 − sin x

1 + cos3 x

1 + cos x

https://dl.doubtnut.com/l/_XYrgvG7yuW0F
https://dl.doubtnut.com/l/_aAwHuooF0rEV
https://dl.doubtnut.com/l/_VeMvAk8xVTxL


Self Assessment Sheet 38

1.  =

A. 1

B. 2

C. 

D. 0

Answer: D

Watch Video Solution

+
cos α + cos β

sin α − sin β

sin α + sin β

cos α − cos β

√2

1.  equals

A. 

B. 

C. 

1 + tan2 A

1 + cot2 A

sec2 A

−1

cot2 A

https://dl.doubtnut.com/l/_VeMvAk8xVTxL
https://dl.doubtnut.com/l/_UgpQZvqS9Z13


Self Assessment Sheet 39

D. 

Answer: D

Watch Video Solution

tan2 A

1. ABC is right angled triangle, right angled at C . D is the midpoint of BC.

Then ,  = 
tan θ

tan ϕ

https://dl.doubtnut.com/l/_UgpQZvqS9Z13
https://dl.doubtnut.com/l/_DXvagoXmybw4


A. 1

B. 

C. 

D. 2

Answer: C

Watch Video Solution

1

√2

1

2

https://dl.doubtnut.com/l/_DXvagoXmybw4


Self Assessment Sheet 40

Question Bank 33

1. Which of the following is not an identity ?

A.  = 2 cosec A cot A

B. 

C. 

D. 

Answer: D

Watch Video Solution

+
1

sec A − 1

1

sec A + 1

cos2 A + = 1
1

1 + cot2 A

tan θ − cot θ =
2 sin2 θ − 1

sin θ cos θ

cot θ + tan θ = cos ecθ ⋅ cos θ

1. v20

A. tan 90∘

https://dl.doubtnut.com/l/_fOCAOzZawxpe
https://dl.doubtnut.com/l/_NcWOj80UEA7W


B. 1

C. 

D. 0

Answer: D

Watch Video Solution

sin 45∘

2. If x tan  , then the value of x is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

30∘ =
sin 30∘ + cos 60∘

tan 60∘ + sin 60∘

2

3

2

√3

2

3√3

3

2

https://dl.doubtnut.com/l/_NcWOj80UEA7W
https://dl.doubtnut.com/l/_aNjJfeYmcOV1
https://dl.doubtnut.com/l/_a3KWTNSzJoMH


3. The value of sin  is

equal to

A. 

B. 

C. 0

D. 2

Answer: B

Watch Video Solution

0∘ + cos 30∘ − tan 45∘ + cos ec60∘ + cot 90∘

5√3 − 6

6

−6 + 7√3

6

4. If  is an acute angle, then the

value of tan x is :

A. 1

B. 

C. 

2 sin2 x + cos2 45∘ = tan 45∘ and x

√3

1

√3

https://dl.doubtnut.com/l/_a3KWTNSzJoMH
https://dl.doubtnut.com/l/_mJBfIkSkEdem


D. 3

Answer: C

Watch Video Solution

5. The value of a sin  is

A. a + b + c

B. b + c

C. 

D. c

Answer: D

Watch Video Solution

0∘ + bcos 90∘ + ctan 45∘

1

2

6. The value of  is
sin 30∘ − cos 60∘ + tan 45∘

cos 90∘ + tan 45∘ + sin 90∘

https://dl.doubtnut.com/l/_mJBfIkSkEdem
https://dl.doubtnut.com/l/_mbhYSccIHfLb
https://dl.doubtnut.com/l/_bLPtnaNZNfGN


A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

1

2

√3

∞

7. The value of

 is :

A. 

B. 

C. 

D. 

Answer: C

sin2 90∘ sin2 30∘ cos2 45∘ + 4 tan2 30∘ + sin2 90∘ − 2 cos2 90∘1

2

1

2

45
24

46
24

47
24

49
24

https://dl.doubtnut.com/l/_bLPtnaNZNfGN
https://dl.doubtnut.com/l/_P4AtFFrxm0eJ


Watch Video Solution

8. The value of

 is

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

(cos 0∘ + sin 45∘ + sin 30∘ )(sin 90∘ − cos 45∘ + cos 60∘ )

7
4

1

2

9.  equal

A. 

B. 

tan 60∘ − tan 30∘

1 + tan 60∘ tan 30∘

tan 60∘

tan 0∘

https://dl.doubtnut.com/l/_P4AtFFrxm0eJ
https://dl.doubtnut.com/l/_FgyEiggpG5SK
https://dl.doubtnut.com/l/_jrm35CKQMcG7


C. 

D. 

Answer: C

Watch Video Solution

tan 30∘

1

3

10. Find the value of x, if 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 2x = sin 60∘ cos 30∘ − cos 60∘ sin 30∘

20∘

15∘

30∘

45∘

https://dl.doubtnut.com/l/_jrm35CKQMcG7
https://dl.doubtnut.com/l/_vZhFCnIaizns
https://dl.doubtnut.com/l/_2Lkrrp2f2i5C


11.  equals

A. 

B. 1

C. 0

D. 2

Answer: C

Watch Video Solution

tan 26∘ − cot 64∘

−1

12. 

A. 0

B. 1

C. 2

D. 

+
sin 19∘

cos 71∘

cos 73∘

sin 17∘

1

2

https://dl.doubtnut.com/l/_2Lkrrp2f2i5C
https://dl.doubtnut.com/l/_4TUDv3tXA1vt


Answer: C

Watch Video Solution

13. Consider the following equations : 

1 .  


2 .  

3.  

Which of these statements given below is correct

A. 1 only is correct

B. 3 only is correct

C. All 1, 2 and 3 are correct

D. 2 and 3 are correct

Answer: C

Watch Video Solution

+ − = 1
cos 75∘

sin 15∘

sin 12∘

cos 78∘

cos ec18∘

sec 72∘

+ cos 40∘ cos ec50∘ = + 2
tan 50∘ + sec 50∘

cot 40∘ + cos ec40∘

− sin 59∘ sec 31∘ = 0
sin 80∘

cos 10∘

https://dl.doubtnut.com/l/_4TUDv3tXA1vt
https://dl.doubtnut.com/l/_HKfq2HEwcRkc
https://dl.doubtnut.com/l/_NC9ts7rst31x


14.  is equal to

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

sin2 25∘ + sin2 65∘

2 sin2 25∘

cos2 65∘

15. If  , then

A. 

B. 

C. 

D. 

sin(30∘ − θ) = cos(60∘ + ϕ)

ϕ − θ = 30∘

ϕ − θ = 0∘

ϕ + θ = 60∘

ϕ − θ = 60∘

https://dl.doubtnut.com/l/_NC9ts7rst31x
https://dl.doubtnut.com/l/_3hEbVC0Lr3J0


Answer: D

Watch Video Solution

16. The value of cot  is :

A. 

B. 0

C. 1

D. 

Answer: B

Watch Video Solution

15∘ cot 16∘ cot 17∘ . . . . . cot 73∘ cot 74∘ cot 75∘

1

2

−1

17. If sin , then value of  is :

A. 

θ = cos θ θ

60∘

https://dl.doubtnut.com/l/_3hEbVC0Lr3J0
https://dl.doubtnut.com/l/_ZwVUzexyAVBP
https://dl.doubtnut.com/l/_i5iq3MbYTj16


B. 

C. 

D. 

Answer: C

Watch Video Solution

0∘

45∘

90∘

18. Value of  is

A. 1

B. 0

C. 2

D. 3

Answer: C

Watch Video Solution

cos2 5∘ + cos2 10∘ + cos2 80∘ + cos2 85∘

https://dl.doubtnut.com/l/_i5iq3MbYTj16
https://dl.doubtnut.com/l/_hBI3zqbFOWHI
https://dl.doubtnut.com/l/_DatOuab0W0sH


19. If sin  where  are acute angles,

what is the value of  ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3θ = cos(θ − 2∘ ) 3θ and (θ − 2∘ )

θ

22∘

23∘

24∘

25∘

20. If tan  , then the value of  is

A. 

B. 0

C. 1

D. 

θ = 1 and sin ϕ =
1

√2
cos(θ + ϕ)

−1

√3
2

https://dl.doubtnut.com/l/_DatOuab0W0sH
https://dl.doubtnut.com/l/_Afv0wGmIRzyq


Answer: B

Watch Video Solution

21. If  , then what

is the value of x ?

A. 

B. 0

C. 1

D. 2

Answer: D

Watch Video Solution

xcos 60∘ + ycos 0∘ = 3 and 4xsin 30∘ − ycot 45∘ = 2

−1

22. Which one of the following is true ?

https://dl.doubtnut.com/l/_Afv0wGmIRzyq
https://dl.doubtnut.com/l/_UyWshOCQNOt0
https://dl.doubtnut.com/l/_i8zdh1vG5Rv8


A. 

B. 

C. 

D. sin x = cos x for some value of 

Answer: A

Watch Video Solution

tan x > 1, 45∘ < x < 90∘

sin x > , 0∘ < x < 30∘1

2

cos x > , 60∘ < x < 90∘1

2

x, 30∘ < x < 45∘

23. If  , then what is 

 equal to

A. cos x

B. sin x

C. 

D. 

Answer: B

x + y = 90∘

√cos x cos ecy − cos x sin y

√cos x

√sin x

https://dl.doubtnut.com/l/_i8zdh1vG5Rv8
https://dl.doubtnut.com/l/_Tn2YEL8vHQPj


Watch Video Solution

24. If , then what is the value of 

 ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0∘ < θ < 90∘ and cos2 θ − sin2 θ =
1

2

θ

30∘

45∘

60∘

90∘

25. The value of  is

A. 

B. 0

sin2(90∘ − θ)[1 + cot2(90∘ − θ)]

−1

https://dl.doubtnut.com/l/_Tn2YEL8vHQPj
https://dl.doubtnut.com/l/_Db5XdW3QkzNd
https://dl.doubtnut.com/l/_RTasqJsiGxAA


C. 

D. 1

Answer: D

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_RTasqJsiGxAA

